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W=| 180 kg
N=| 4 ES
=N 10 (7
A= 78 2= [ 78 x10° |n?
Nt=| 2 ES
He=| 622 Imm= " [0.622 m
L=| 681 Imm= 0. 681 m
Le=| 296 I (Lg <L/2)=[0. 296 |m
Kh=| 2.0 |
Kv=Kh/2=| 1.0 |
Fh=Kh-W-9. 8=| 3528.0 IN
Fu=Kv-W-9. 8=| 1764.0 IN
_ Fh-Hg—(W-9.8-Fv)-Lg _
= e = 1611.2 IN
Q=Fh/N=| 882.0 IN
o=Rb/A=| 20.7 IMPa< ft=176MPa
T =0/A=| 1.3 IMPa< fs=101MPa
fts'=1.4ft-1.6 7= 228.3 MPa
fts' >t & Efts=fFtTHENDT fs=| 176.0 MPa
o=[ 20.7 | MPa < fts=| 176.0 IMPa
=HER BT N~ |
=| 180 mm= | 0.180  |m
=| 130 = | 0.130  |m
Ta=| 5488 LN > Rb= | 1611 N
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